
SUBMITTAL RECORD
JOB
LOCATION
SUBMITTED TO
SUBMITTAL PREPARED BY
APPROVED BY
DATE

Submittal Form
Rapit® Damper 

Regulator

®R

©2016 Duro Dyne Corporation
Printed in USA 10/16

BO008436

®Duro Dyne East Division, Bay Shore, NY	 631-249-9000	 Fax:	 631-249-8346
Duro Dyne Midwest Division, Hamilton, OH	 513-870-6000	 Fax:	 513-870-6005
Duro Dyne West Division, Fontana, CA 	 562-926-1774	 Fax:	 562-926-5778
Duro Dyne Canada, Lachine, Quebec, Canada	 514-422-9760	 Fax:	 514-636-0328

www.durodyne.com   E-mail: durodyne@durodyne.com

RAPIT REGULATOR PARTS
ITEM# CODE DESCRIPTION QTY

8088  RB50 Rapit spring bearing 100 Per Ctn
8201 RB25T Threaded Rapit solid bearing 100 Per Ctn
8089 RP1 Rapit handle 100 Per Ctn
8198 RP1T Rapit handle for RB-25T threaded bearing 100 Per Ctn
8090 RP2 Rapit wing nut 100 Per Ctn
8091 RP3 Rapit washer 100 Per Ctn
7190 RP3-50NEO RB50 washer with neoprene 100 Per Ctn
7191 RP3-25NEO RB25 washer with neoprene 100 Per Ctn
7378 SRE516-516 Slide Rapit Extension 100 Per Ctn
7308 SRE14-14 Slide Rapit Extension 100 Per Ctn
7388 REC14 1/4” Square Rapit Extension 2-3/4” long 10 Per Ctn
8344 RP2S 5/16-18 Tapered Wing Nut 100 Per Ctn
7349 RP2E 5/16-18 Stamped Wing Nut 100 Per Ctn

Bulk packaging also available

 RB-50
Bearing 

 RP-1
Handle

 RP-1T
Handle

 RP-3
Washer RB-25T

Bearing

 RP-2
Wing Nut

 SRE1
REC14

RP3-50NEO RP3-25NEO

‘RAPIT’® DAMPER REGULATOR

1. Slip the bearing over the edge of the damper at the bearing line.
2. Lay the assembly on any firm surface and rap the prong with a hammer.  One blow drives the 

prong through the damper blade, holding it securely to the damper.
3. When hit with a hammer, the prong will automatically form up tight by the anvil, which 

is built into the bottom of the “Rapit” Bearing.

The RAPIT is an inexpensive, rattle-free regulator for quick installation on balance or splitter 
dampers. It is formed from rust-resistant, heavy gauge, galvanized steel and installs in seconds.  
The Rapit will penetrate and secure to round or rectangular damper blades up to 24 gauge steel.  
It has a fully retractable bearing of zinc alloy, threaded to accept a 5/16-18  wing nut and a handle 
that indicates the damper position. It’s as easy to use as 1-2-3.

RAPIT REGULATOR SETS
ITEM#/BULK# CODE/BULK CODE CONSISTS OF: QTY/BULK QTY

8087 RB56 1 RB-50 Rapit spring bearing; 1 RP-3 washer; 1 RP-2 wing nut 20 Per Ctn
8086 / 8368 RS156 / RS156B 1 RB-50 Rapit spring bearing; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut 10 Per Ctn / 100 Per Ctn
8085 / 8348 RS256 / RS256B 2 RB-50 Rapit spring bearings; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut 10 Per Ctn / 100 Per Ctn
8233 / 8372 RS356 / RS356B 1 RB-50 Rapit spring bearing; 1 RB-25T threaded Rapit solid bearing; 1 RP-3 

washer; 1 RP-1 handle; 1 RP-2 wing nut
10 Per Ctn / 100 Per Ctn

Note: Not recommended for use 
in systems over 300 o F. 

ECONO-STUD - ECONOMY DAMPER HARDWARE ECONOMY DAMPER HARDWARE
ITEM# CODE DESCRIPTION QTY

7031 ES14    1/4” Econo-Stud 1000 Per Ctn
7033 ES14W 1/4-20 Stamped Wing Nut 1000 Per Ctn
7035 ES14NW-NEO 1/4” Washer with Neoprene 1000 Per Ctn

ES14


